
(1)AJMAL NATIONAL TALENT SEARCH (ANTS) EXAMINATION - 2011
Class : VII

Time / a]Ì̂  : 2 hours/ H³RôOç Full Marks/ ]ÇPö X=‘ö» / å]çOô X¶‘öÌ[ý f (25+25+25+25)=100

General Knowledge / açWýç»S pûçX / açWýçÌ[ýS pûçX

1. The Life Time Achievement Award in the 56th Film Fare Award was given to -
%çLÝ¾X EÊõ×Tö±¼ö» [ýçã[ý 56 Tö] ×Zõ_½ãZõÌ̂ ç» [ýgOôç EõçEõ ×VÌ̂ ç éc÷×$K÷_ ?
%çLÝ[ýX EÊõ×Töã±¼öÌ[ý LXî 56Tö] ×Zõ_½ãZõÌ̂ çÌ[ý YÇÌ[ý•õçÌ[ý Eõçc÷çãEõ åVCÌ̂ ç c÷Ì̂  ?

a) Amitabh Bachchan b) Shatrughan Sinha c) Manna Dey d) Rekha
%×]Töç\ö [ý¬K÷X / %×]Töç\ö [ý¬JôX `yÓHÂ ×aXc÷ç ]ç~ç ãV å»Fç / åÌ[ýFç

2. "Stumpy" - The mascot of 2011 Cricket world cup was first unveiled in -
2011 $JôX» ×[ý`Ÿ EõçY ×yÔãEõOô» £\öeEõ» ""rôç¶YÝ'' Eõ'Tö =ãX½ç$JôX Eõ»ç éc÷×$K÷_ ?
2011 aãXÌ[ý ×[ý`ŸEõçY ×yÔãEõäOôÌ[ý £\öeEõÌ[ý  "ºOôç¶YÝ' åEõçUçÌ̂  =ãX½ç»JôX EõÌ[ýç c÷Ì̂  ?

a) India b) Bangladesh c) Sri Lanka d) England
\öç»TöTö [ýçe_çãV`Tö Ò̀Ý_eEõçTö +eã_‰øTö
\öçÌ[ýãTö [ýçe_çãVã` Ò̀Ý_eEõçÌ^ +eã_ã³Qö

3. When did commercial banks were nationalized in India ?
\öç»TöTö [ýç×S×LîEõ å[ýeEõ a]Çc÷Eõ åEõ×TöÌ̂ ç »çrÑôÝÌ̂ EÊõTö Eõ»ç éc÷×$K÷_ ?
\öçÌ[ýãTöÌ[ý [ýç×S×LîEõ å[ýeEõm×_ åEõçX aãX Ì[ýçrÑôÝÌ̂ EÊõTö EõÌ[ýç c÷Ì̂  ?

a) 1951 b) 1969 c) 1976 d) 1980

4. Who presided over the Congress Session at Pandu (Guwahati), for the first time in Assam in 1926 ?
1926 $JôXTö %XÇ×œöTö Yç‰Çø (m¾çc÷çOôÝ) EõeäGÐ$K÷ %×Wýã¾`XTö åEõçãX a\öçY×Tö±¼ö Eõ×»×$K÷_ ?
1926 aãX %XÇ×œöTö Yç‰Çø (mÌ̂ çc÷çOôÝ) EõeäGÐãaÌ[ý %×Wýã[ý`ãX a\öçY×Tö ×»K÷ã_X ..........................

a) Jawaharlal Nehru b) Motilal Nehru c) Srinivas Iyenger d) Nabin Ch. Bordoloi
L¾çc÷»_ç_ åXc÷»Ó ]×Tö_ç_ åXc÷»Ó `ÒÝ×X[ýça %çãÌ̂ †ç» X[ýÝX $Jô³VÐ [ý»Vê_
LCc÷Ì[ý_ç_ åXc÷Ì[ýÓ ]×Tö_ç_ åXc÷Ì[ýÓ `ÒÝ×X[ýça %çãÌ̂ †çÌ[ý X[ýÝX »Jô³VÐ [ýÌ[ýVê_

5. 'ISBN' in a book stands for :-
GÐÜšöTö =ä{×FTö ISBN åÌ̂  ×Eõ aÇ$JôçÌ̂  ?
GÐãÜšö ISBN ×Eõ [ýÇMõçÌ̂  ?

a) International Serial Book Number b) Indian Serial Book Number

c) International Standard Book Number d) Indian Standard Book Number
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6. If we have to 'select All' files / folders in a window based computer; we have to press -
Window based Eõ×¶Y=Oôç»Tö A[ýç»ãTö aEõã_ç File / Folder Select  Eõ×»[ýê_ ×Eõ [ýÇOôç] ×Oô×Y[ý _çãG ?
Window based Eõ×¶Y=OôçãÌ[ý a[ý File / Folder AEõaeãG Select  Eõ×Ì[ýãTö c÷+ã_ XÝä»JôÌ[ý åEõçX å[ýçTöç]m×_ ×Oô×YãTö c÷Ì̂  ?

a) Ctrl + A b) Ctrl + S c) Ctrl + V d) Ctrl + Z

7. If Bicycle is to K. Macmillan then 'Safety Match' is to :
K. Macmillan A $Jôç+ãEõ_ %ç×[ý•õç» Eõ×»$×$K÷_* åEõç¾çä$JôçX ×VÌ̂ ç $Jô_ç+ åEõçãX %ç×[ý•õç» Eõ×»×$K÷_ ?
%ç]Ì[ýç Lç×X aç+ãEõ_ %ç×[ý•õçÌ[ý EõãÌ[ýX åEõ, å]Eõ×]_çãX* A[ýçÌ[ý [ýã_ç "×VÌ̂ ç`_ç+' åEõ %ç×[ý•õçÌ[ý EõãÌ[ýX ?

a) Gillet b) John Walker c) Rudolf Diesel d) Wright Brothers
×Lã_Oô LX ¾çEõç» »ÓQö·Zõ ×QöãL_ »ç+Oô \öçTÊö
×Lã_Oô LX CÌ^çEõçÌ[ý Ì[ýÓQö·Zõ ×QöãL_ Ì[ýç+Oô \öçTÊö

8. Who was the champion of Dance India Dance little champs of Zee TV ?
Zee ×Oô×\ö Y×»$Jôç×_Tö Qöç³a +×‰øÌ̂ ç Qöç³a» ×`£ æ$Jô×¶YÌ̂ X %ç×$K÷_ --
×L ×Oô×\öÌ[ý "Qöç³a +×³QöÌ̂ ç Qöç³a ×_×Oô_ æ»Jô¶Ya'  AÌ[ý ×[ýLÌ^Ý --

a) Jitumoni Kalita b) Anamika Choudhury c) Akanksha Dutta d) None of the above
×LTÇö]×S Eõ×_Töç %Xç×]Eõç æJôìWýÇ»Ý %çEõçe`ç Vwø +Ì^ç» ALãXç Xc÷Ì̂
×LTÇö]×S Eõ×_Töç %Xç×]Eõç æ»JôìWýÇÌ[ýÝ %çEõç…ç Vwø +c÷çãVÌ[ý åEõc÷+ XÌ̂

9. 'Fortune', a business magazine is published from -
'Fortune' [ýî¾aç×Ì̂ Eõ å]GçLÝXFX Eõ'» Y»ç YÒEõç` c÷Ì̂  ?
'Fortune' [ýî[ýaç×Ì̂ Eõ ]îçGç×LX åEõçUç åUãEõ YÒEõç` c÷Ì̂  ?

a) England b) Australia c) U.S.A. d) France
+eã_‰ø %ärÑô×_Ì^ç %çã]×»Eõç/ %çã]×Ì[ýEõç ZÐõç‡û/ ZÐõç³a

10. "Two Leaves and A Bud" was written by -
""OÇô-×_\öK÷ A‰ø A [ýçQö''» (A×Oô Eõ×_ VÇ×Oô YçTö) »$Jô×Ì̂ Töç åEõçX ?
""OÇô-×_\öa A‰ø A [ýçQö'' GÐÜšö×OôÌ[ý Ì[ý»Jô×Ì̂ Töç ...........................

a) R.K. Narayan b) Sanjay Hazarika c) Mamoni Royson Goswami d) Mulkraj Anand.
%ç» åEõ Xç»çÌ̂ S atÌ̂  c÷çL×»Eõç ]ç]×X »Ì̂ $Jô] åGçØ‘öç]Ý ]Ç’õ»çL %çX³V
%çÌ[ý åEõ XçÌ[ýçÌ̂ X atÌ̂  c÷çL×Ì[ýEõç ]ç]×X Ì[ýÌ̂ a] åGçØ‘öç]Ý ]Ç_EõÌ[ýçL %çX³V

11. 'Jarwa' tribe is found in -
"Lç»¾ç' LXLç×Tö» å_çEõ Eõ'Tö åYç¾ç ̂ çÌ̂  ?
"LçÌ[ýCÌ̂ ç' LXLç×TöÌ[ý å_çEõ åEõçUçÌ^ YçCÌ̂ ç ̂ çÌ^ ?

a) Madhya Pradesh b) Rajasthan c) Andaman & Nicobar Islands d) West Bengal
]Wýî YÒãV`Tö »çLØšöçXTö %ç³Vç]çX ×XãEõç[ý» VÝYYÇtTö Y×¸Jô] [ýeGTö
]WýîYÒãV` Ì[ýçLØšöçX %ç³Vç]çX C ×XãEõç[ýÌ[ý ¥ÝYYÇt Y×¸Jô][ý†
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12. 'Mesopatamia' was the old name of
"å]ä$JôçYäOô×]Ì̂ ç' åEõçX åV`» YÇ»×S Xç] %ç×$K÷_ ?
"å]ãaçYäOô×]Ì̂ ç'Ì[ý [ýTöÛ]çX Xç] -

a) Iran b) Iraq c) Egypt d) Ethiopia
+»çS +»çEõ +×LŠ +×UC×YÌ^ç
+Ì[ýçS +Ì[ýçEõ +×L´Oô +×UC×YÌ^ç

13. If Red Rose indicates 'Love', then Yellow Rose indicates -
^×V »Iøç åGç_çY æYÒ]» YÒTöÝEõ, åTöãÜ™ö c÷ç_WýÝÌ̂ ç åGç_çY ×Eõc÷» YÒTöÝEõ ?
^×V _ç_ åGç_çY æYÒã]Ì[ý YÒTöÝEõ Töã[ý c÷_ÇV åGç_çY ×EõãaÌ[ý YÒTöÝEõ ?

a) Wealth b) Disease c) Health d) Friendship
WýX-a¶Y×wø å[ý]ç»/ åÌ[ýçG Ø‘öçØšöî [ýµÇù±¼ö

14. Banana oil is obtained from :
[ýçXçXç åTö_ ×Eõc÷» Y»ç %çc÷»S Eõ»ç c÷Ì̂  ?
[ýçXçXç åTö_ åEõçUç åUãEõ %çc÷Ì[ýS EõÌ[ýç c÷Ì̂  ?

a) Banana b) Pineapple c) Coal d) Pepper
Eõ_ %çXç»a EõÌ^_ç Lç_ÇEõ
Eõ_ç %çXçÌ[ýa EõÌ^_ç åGç_ ]×Ì[ý»Jô

15. Find out the correct statements :- Uma Bharati, Sushma Swaraj, Vasundhara Raje
£ˆù =wø»äOôç [ýç×$K÷ =×_C¾ç - =]ç \öç»TöÝ,  aÇb]ç Ø‘ö»çL, [ýaÇµù»ç »çãL
£ˆù =wøÌ[ý×Oô [ýç×c÷Ì[ý EõÌ[ý - =]ç \öçÌ[ýTöÝ, aÇb]ç Ø‘öÌ[ýçL [ýaÇµùÌ[ýç Ì[ýçãL

a) All of them belong to B.J.P. b) They were chief-Ministers of different provinces of India.
%çOôçãÌ̂  ×[ý åL ×Y V_» aVaî %çOôçãÌ̂  \öç»Tö» ×[ý×\ö~ »çLî» ]ÇFî ]Ü—öÝ %ç×$K÷_*
aEõã_+ ×[ý ãL ×Y Vã_Ì[ý aVaî aEõã_ \öçÌ[ýãTöÌ[ý ×[ý×\ö~ Ì[ýçãLîÌ[ý ]ÇFî]Ü—öÝ ×»K÷ã_X

c) Both (a) & (b) d) None of them
(a) %ç»Ó (b) =\öãÌ̂  £ˆù AOôçC Xc÷Ì^
(a) A[ýe (b) =\öãÌ̂  £ˆù ãEõçXOôç+ XÌ̂

16. If the speaker of the Loksabha intends to resign, he should send his resignation to the -
^×V å_çEõa\öç» %WýîlùLãX YVTöîçG Eõ×»[ý ×[ý$Jôçã» åTöãÜ™ö åTöCg YVTöîçG YyFX Eõçê_ Y×PöÌ̂ ç[ý ?
ã_çEõa\öçÌ[ý %Wýîlù YVTöîçG Eõ×Ì[ýã_ ×Tö×X Töçc÷çÌ[ý YVTöîçG Yy Eõçc÷çÌ[ý ×XEõOô æYÒÌ[ýS Eõ×Ì[ýã[ýX ?

a) The Prime Minister b) The President c) Deputy speaker d) Chief Justice
YÒWýçX]Ü—öÝê_ »çrÑôY×Töê_ =YçWýîlùê_ ]ÇFî XîçÌ̂ çWýÝ`ê_
YÒWýçX]Ü—öÝ Ì[ýçrÑôY×Tö =YçWýîlù ]ÇFî XîçÌ^çWýÝ`
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17. 'Bharat Ratna' was established as India's highest civilian award in -
åEõ×TöÌ̂ ç ""\öç»Tö »±óö''Eõ aã[ýïç¬K÷ %aç]×»Eõ [ýgOôç åHçbSç Eõ»ç éc÷×$K÷_ ?
åEõçX aãX "\öçÌ[ýTö Ì[ý±óö'åEõ \öçÌ[ýTö[ýãbïÌ[ý aã[ýïç¬Jô %aç]×Ì[ýEõ YÇÌ[ý•õçÌ[ý åHçbXç EõÌ[ýç c÷Ì̂  ?

a) 1951 b) 1954 c) 1958 d) 1961

18. Raman Magsaysay, in whose memory the Magsaysay awards are given, was from
»]S å]GäK÷äJôäJô» åaç¾»STö ×[ýFîçTö å]Gã$Jôä$Jô [ýgOôç ×VÌ̂ ç c÷Ì̂ , åTöCg åEõçX åV`» å_çEõ %ç×$K÷_ ?
Ì[ý]S ]îçGãaaçÌ̂ , ̂ çÌ[ý Øö‚Ì[ýãS ×[ýFîçTö ]îçGãaaçÌ̂  YÇÌ[ý•õçÌ[ý åVCÌ̂ ç c÷Ì̂ , ×Tö×X åEõçX åVã`Ì[ý å_çEõ ×»K÷ã_X ?

a) West Indies b) India c) Philippines d) Thailand
Cå¾rô +×‰ø$Jô \öç»Tö[ýbï ×Zõ×_Yç+X$Jô Uç+ã_‰ø
CãÌ̂ ºOô +×³QöL \öçÌ[ýTö[ýbï ×Zõ×_Yç+Xa Uç+ã_³Qö

19. Who is the Captain of Chennai Super Kings team of IPL 2011
IPL 2011 » æ$Jô~ç+ $JÇôYç» ×Eõe V_» %×WýXçÌ̂ Eõ åEõçX ?
IPL 2011 AÌ[ý æ»Jô~ç+ aÇYçÌ[ý ×Eõe Vã_Ì[ý %×WýXçÌ̂ Eõ ?

a) Sachin Tendulkar b) Mohendra Singh Dhoni  c)    Kumar Sangakara d) Gautam Gambhir
`$JôÝX åTö‰Çø_Eõç» ]ãc÷³VÐ ×ae åWýçXÝ    EÇõ]ç» $K÷çeGçEõç»ç åGìTö] G�öÝ»
`»JôÝX åTö‰Çø_EõçÌ[ý ]ãc÷³VÐ ×ae åWýçXÝ    EÇõ]çÌ[ý açeGçEõçÌ[ýç åGìTö] G�öÝÌ[ý

20. The first film produced in India was s:
\öç»Tö» YÒU] EõUç$K÷×[ý c÷'_ -
\öçÌ[ýãTöÌ[ý YÒU] ×aãX]ç c÷+_ -

a) Alam Ara b) Raja Harish Chandra c)   Sakuntala d) None of these
%ç_] %ç»ç »Lç c÷×»` $Jô³VÐ      `EÇõÜ™ö_ç +Ì^ç» AOôçC Xc÷Ì̂
%ç_] %çÌ[ýç Ì[ýçLç c÷×Ì[ý`»Jô³VÐ      `EÇõÜ™ö_ç +c÷çãVÌ[ý AEõ×OôC XÌ̂

21. In India the governor of a state is appointed by :
\öç»Tö[ýbïTö »çLîYç_Eõ åEõçãX ×X^Ç×Nþ ×VãÌ̂  ?
\öçÌ[ýTö[ýãbï Ì[ýçLîYç_ãEõ ×X Ç̂×Nþ åVX -

a) The Chief Justice b) The Prime Minister c) The President d) The Vice-President
]ÇFî XîçÌ^çWýÝ` YÒWýçX ]Ü—öÝãÌ̂ »çrÑôY×TöãÌ̂ =Y»çrÑôY×TöãÌ̂
]ÇFî XîçÌ^çWýÝ` YÒWýçX ]Ü—öÝ »Ì[ýçrÑôY×Tö =Y»Ì[ýçrÑôY×Tö

22. Which of the following blood groups is called 'universal donor' ?
Tö_» åEõçX åTöL» GÐÓY» ]çXÇc÷Eõ aç[ýïLXÝX VñçTöç [ýÇ×_ åEõç¾ç c÷Ì̂  ?
Ì[ýãNþÌ[ý åEõçX GÐÓãYÌ[ý ]çXÇbãEõ aç[ýïLXÝX VçTöç [ý_ç c÷Ì̂  ?

a) O b) AB c) A d) B
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23. The Editior of 'The Assam Tribune' is -
"%ç$K÷ç] ×®Ïô×[ý=X'» a¶YçVEõ åEõçX ?
"%çaç] ×®Ïô×[ý=X' Y×ÅyEõçÌ[ý a¶YçVEõ åEõ ?

a) Kanaksen Deka b) Profulla Govinda Baruah c)     Haidar Hussain d) Homen Borgohain
EõXEõãaX åQöEõç YÒZÇõ{ åGç×[ý³V [ý»Ó¾ç       c÷çÌ̂ V» §ä$K÷+X åc÷çã]X [ý»ãGgçc÷ç+
EõXEõãaX åQöEõç YÒZÇõ{ åGç×[ý³V [ýÌ[ýÓÌ̂ ç      c÷çÌ̂ VÌ[ý §ãa+X åc÷çã]X [ýÌ[ýãGgçc÷ç+

24. A muslim prays five times in a day to the direction of -
ALX ]Ç$K÷_]çãX ×VXTö YçK÷ [ýç» åEõçX ×V`Tö Xç]çL YäRÍô ?
AEõLX ]Ça_]çX ×VãX Ygç»»Jô [ýçÌ[ý åEõçX ×VãEõ Xç]çL YäQÍö ?

a) Towards west direction b) Direction towards the nearby mosque
Y×¸Jô] ×V`ê_ C$Jô»» ]$K÷×LV» Zõçã_
Y×¸Jô] ×VãEõ ×XEõOô[ýwøÞ ]a×LãVÌ[ý ×VãEõ

c) Towards the direction of Quaba at Mecca d) Towards the north direction.
]hõç» Eõç[ýç» ×V`ê_ =wø» ×V`Tö
]hõçÌ[ý Eõç[ýçÌ[ý ×VãEõ =wøÌ[ý ×VãEõ

25. The art of growing dwarf plants :
G$K÷-G$K÷×XEõ $JÇô×Oô $JôçY»êEõ »Fç» Eõ_çEõ ×Eõ [ýÇ×_ åEõç¾ç c÷Ì̂  ?
Gç»K÷-Gç»K÷ç×_ãEõ æ»K÷çOô EõãÌ[ý Ì[ýçFçÌ[ý Eõ_çãEõ ×Eõ å[ýç_ç c÷Ì̂  ?

a) Ikebana b) Bonsai c) Fertilization d) Re-production
+ãEõã[ýXç [ýX$K÷ç+ ×Xãb×$JôTö Eõ»S YÇX» =dYçVçX
+ãEõã[ýXç [ýXK÷ç+ ×Xãb×»JôTö EõÌ[ýS     YÇXÌ[ý =dYçVX

General English

26 The following jumbled words have been  arranged in their right order .Pick up the correct one.
"Wife, children, care, he, takes, of, his, and."

a) His wife and children takes care of he. b) Children takes care of his wife and he.
c) He and his wife caretakes  of children. d) He takes care of his wife and children.

27. One of the following sentences is  not correct. Find the incorrect one.

a) They had not anything to eat. b) They did not have anything to eat.
c) They did not have nothing to eat. d) They had nothing to eat.
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28. The proper questions for the two sentences given below  will be :
1. Yes, there will be a show today.
2. No, there will not be any show today.
i) Will there be no show today ? ii) Will there  be not  no show today?
iii) Won't there be any show today " iv) Won't there be no show today ?

a) ii & iv b) i & iii c) i & iv d) ii & iii

29. They   ------------ the pictures on the wall.

a) hanged b) hung c) hinged d) swung

30. Fill in the blank with adjectives opposite in meaning to the word printed in italics.
The knife was not sharp. It was  ------------.

a) Rough b) thick c) rude d) blunt.

31 We often talk to ourselves.  The word ourselves is a :
a) distributive pronoun b) reflexive pronoun c) emphasizing pronoun d)  relative pronoun.

32 Fill in the blank with correct prepositions :
We arrived  ------------ Delhi  ---------- noon.

a) at , in b) to , by c) for , on d) in , at.

33. I  sympathise  --------------- you  ---------------- your misfortune.

a) for , on b) to , at c) with , in d) with , for

34. The train -----------  an hour ago.

a) has left b) had left c) left d) has been left.

35. "She agreed to my proposal" in passive voice this sentence will be :

a) My proposal was agreed to. b) My proposal was agreed to by her.
c) My agreement was proposed to by her. d) She has been agreed to my proposal.

36. ----------------- two thousand people joined the strike.

a) No less than b) Not many than c) No little than d) No fewer than

37. Pick up the correct sentence :

a) He ran fast otherwise he should miss the train. b) He ran fast lest he might miss the train.
c) He ran fast lest he should miss the train. d) He ran fast because he may miss the train.
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38. Pick up the correct sentence :

a) If I was him, I would not do it. b) If I were him, I would not do it.
c) If I was he, I would not do it. d) If  I were he, I would not do it.

39.  Pick up the correct sentence :

a) All that glitter is not gold. b) All that glitters is not gold.
c) All that glitters are not gold. d) All that glitters are not golds.

40. Pick up the correct sentence :
a) If it rains  we shall not play. b) if it will rain we shall not play.
c) If it will rain we do not play. d) If it is raining we are not playing.

Pick up the appropriate word which is similar in meaning to the underlined word in the given  Sentence in Q. 41 and 42.

41. "Grandfather has been getting feeble of late."

a) Small b) diseased c) weak d) angry

42. "Your master will like you if you are diligent."

a) obedient b) meticulous c) hard working d) relaxing

Pick up the appropriate word which is opposite in meaning to the underlined word in the given Sentence in Q. 43 and 44.

43. He has a passion for indigenous goods.

a) native b) foreign c) cheap d) expensive

44. This offer has come as a great boon to me.

a) curse b) blemish c) trouble d) misfortune

Pick out the correct meaning for the underlined words in italics (Q. 45 - 47)
45.  Acoustics is the science of  ------------------

a) languages b) coins and metals c) sound d) diseases

46. Only a dare devil can challenge the city mafia. Dare devil means:

a) a foolish person b) a rich person c) a fearless person d) a terrorist

47. He had a close shave as he was driving  on the highway.

a) He found a bag full of currency notes. b) He was followed by a gang of robbers.
c) He had a narrow escape . d) His car ran out of petrol.
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48. Which word will come last in a dictionary ?

a) Obvious b) obstruct c) obfuscate d) oblong

49. Which one word can be formed from the letters of the word 'REVERENCE' ?

a) NEAR b) SEER c) PEER d) NEVER

50. ' Page'  is related to ' Book'    as  'Leaf'  is related to  - :

a) Root b) Green c) Forest d) Tree

General Mathematics / açWýç»S G×STö / açWýçÌ[ýS G×STö

51. Temperature at the foot of a mountain is +50C. It fell down by 100C at the top of the mountain. The temperature
recorded on the top is......
AFX Y[[ýïTö» YçV åV`» =bÕTöç +50C %ç»Ó ×`F»» =bÕTöç 100C Eõ] c÷'å_ ×`F»» =bÕTöç c÷[ý ...................
Y[ýïãTöÌ[ý YçVãVã`Ì[ý =bÕTöç +50C A[ýe ×`FãÌ[ýÌ[ý =bÕTöç 100C Eõ] c÷ã_ ×`FãÌ[ýÌ[ý =bÕTöç c÷+ã[ý .....................

a) +150C b) -150C c) +50C d) -50C

52. In the word GOPAL, What fraction of letters are made of three lines ?
GOPAL ̀ Œ» ×Eõ]çX %e` %çF» ×Tö×XOôç å»Fçã» G×PöTö ?
GOPAL ̀ Œ×OôãTö %lùãÌ[ýÌ[ý EõTöOÇôEÇõ %e` ×TöXOôç åÌ[ýFçãTö G×PöTö ?

a)  b)  c)  d) 

53. A badminton player won 6 games and lost 4. The fraction of games he won is .....
ALX å[ýQö×]³OôX åF_Çê¾ãÌ̂  6 FX åF_Tö ×L×Eõ×$K÷_ %ç»Ó 4 FXTö c÷ç×»×$K÷_* åTöCg ×Eõ]çX %e` åF_Tö ×L×Eõ×$K÷_ ?
AEõLX å[ýQö×]³OôX åFã_çÌ̂ çQÍö 6 Oôç ]îçä»Jô ×[ýLÌ̂ Ý c÷Ì̂  A[ýe 4 Oôç ]îçä»Jô YÌ[ýç×LTö c÷Ì̂ , åa åF_çÌ[ý EõTöOÇôEÇõ %eã` LÌ̂ Ý c÷Ì̂  ?

a) b) c) d) 

54. If 2805 ÷ 2.55 = 1100, then 280.5 ÷  25.5 = ..........
^×V 2805 ÷ 2.55 = 1100 c÷Ì̂ , åTöãÜ™ö 280.5 ÷  25.5 = ..........
^×V 2805 ÷ 2.55 = 1100 c÷Ì̂ , Töã[ý 280.5 ÷  25.5 = ..........

a) 1.1 b) 1.01 c) 0.11 d) 11

Create PDF files without this message by purchasing novaPDF printer (http://www.novapdf.com)

http://www.novapdf.com
http://www.novapdf.com


(9)

55. The solution of 0.2 (2x - 1) - 0.5 (3x - 1) = 0.4 is ................
0.2 (2x-1) - 0.5(3x-1) =0.4 » a]çWýçX ....................
0.2 (2x-1) - 0.5(3x-1) =0.4 AÌ[ý a]çWýçX .................

a) b) - c) d) -

56. The average of three numbers is 60. The first is th of the sum of the other two. The first number is ...........
×Tö×XOôç aeFîç» GQÍö 60 Töçã» YU] aeFîçäOôç %çX VÇOôç aeFîç» å^çGZõ_» %e` c÷ã_ YÒU] aeFîçäOôç c÷[ý ........
×TöXOôç aeFîçÌ[ý GQÍö 60, YÒU] aeFîç×Oô %Xî VÇ+×Oô aeFîçÌ[ý å^çGZõã_Ì[ý %e` c÷+ã_ YÒU] aeFîç×Oô c÷+ã[ý .................

a) 24 b) 36 c) 48 d) 72

57. The angle between two perpendicular lines is .............
VÇQöç_ _¶‘ö å»Fç» ]çL» åEõçSäOôç ...............
VÇ+×Oô _¶‘ö åÌ[ýFçÌ[ý ]ãWýîÌ[ý åEõçS×Oô ...................

a) 300 b) 600 c) 900 d) 1800

58. In the adjoining figure, it is given that D and E are the mid points of AB and AC respectively. If A=800, C=350

then EDB= .............
Eõçb» ×$JôyTö D %ç»Ó E yÔã] AB %ç»Ó AC [ýç§» ]Wýî ×[ý³VÇ*^×V A=800, C=350 c÷Ì̂ , åTöãÜ™ö EDB= .............
Yçã`Ì[ý ×»Jôäy D A[ýe E yÔã] AB A[ýe AC [ýç§Ì[ý ]Wýî×[ý³VÇ* ̂ ×V A=800, C=350 c÷Ì̂ , Töã[ý EDB= .............

a) 1200 b) 1600 c) 700 d) 1150

59. In the following figure if AB = AC then find X
Tö_Tö ×VÌ̂ ç ×$JôyTö ̂ ×V AB = AC c÷Ì̂  åTöãÜ™ö X » ]çX ×XSïÌ̂  Eõ»ç*
XÝä»Jô åVCÌ̂ ç ×»Jôäy ̂ ×V AB = AC c÷Ì̂ , Töã[ý X AÌ[ý ]çX ×XSïÌ̂  EõÌ[ý*

a) 800 b) 700 c) 600 d) 1100

60. If a, b and c are the sides of a triangle, then ...............
^×V a, b %ç»Ó c AOôç ×Åy\ÉöL» [ýç§ c÷Ì̂ , ãTöãÜ™ö ..................................
^×V AEõ×Oô ×Åy\ÇöãLÌ[ý ×TöX×Oô [ýç§ a, b A[ýe c c÷Ì̂ , Töã[ý ..............................

a) a-b>c b) c>a+b c) c=a+b d) b<c+a
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61. Two chimneys 18m and 13m high stand upright in a ground. If their feet are 12m apart, then the distance between
their tops is ..........
18 ×]. %ç»Ó 13 ×]. =¬JôTöç» VÇOôç ×$Jô]XÝ ]ç×OôTö =_¶‘ö \öçã[ý ×UÌ̂  éc÷ %çä$K÷* ̂ ×V ×$Jô]XÝ VÇOôç» m×»» VÇ»±¼ö 12 ×] c÷Ì̂  åTöãÜ™ö ×$Jô]XÝ VÇOôç» ̀ Ýbï ×[ý³VÇ» VÇ»±¼ö
×Eõ]çX ?
18 ×]f A[ýe 13 ×]f =¬JôTöçÌ[ý VÇ+×Oô ×»Jô]XÝ ]ç×OôãTö åaçLç EõãÌ[ý VçQÍö EõÌ[ýçãXç c÷Ì^* ̂ ×V ×»Jô]XÝ VÇ+×OôÌ[ý ×X¶oö\öçãGÌ[ý VÉÌ[ý±¼ö 12 ×]f c÷Ì^, Töã[ý =YÌ[ý\öçãGÌ[ý VÉÌ[ý±¼ö
EõTö  c÷+ã[ý ?

a) 5m (×]) b) 31m (×]) c) 13m (×]) d) 18m (×])

62. If  of 49+20% of 130 = x + 49 then x = .........

^×V 49» +130» 20% = x + 49 c÷Ì̂  åTöãÜ™ö x = .........

^×V 49 AÌ[ý +130 AÌ[ý 20% = x + 49 c÷Ì̂ , Töã[ý x = .........

a) 10 b) 12 c) 16 d) 18

63. If p is 6 times that of q,  what percent is q less than p ?
^×V q » 6mS p c÷Ì̂ , åTöãÜ™ö pTöêEõ q×Eõ]çX ̀ Töçe` Eõ] ?
^×V q AÌ[ý 6 mS p c÷Ì̂ , Töã[ý p åUãEõ q EõTö ̀ Töçe` Eõ] ?

a) 12% b) 83% c) 6% d) 33%

64. What is the difference in SI if a sum of Rs. 4000 is borrowed by a person for 4 years and the rate of interest
is increased from 4% to 5% ?
ALX ]çXÇãc÷ 4000 OôEõç 4 [ý$K÷»» [ýçã[ý Wýçã» ×Xã_ a»_ aÇTö» YçUïEõî ×Eõ]çX c÷[ý ̂ ×V aÇTö» c÷ç» 4% » Y»ç 5% é_ [ýÊ×ˆù Eõ»ç c÷Ì̂ *
AEõLX ]çXÇãb 4000 OôçEõç 4 [ý»K÷ãÌ[ýÌ[ý LXî WýçÌ[ý ×Xã_ aÌ[ý_ aÇãVÌ[ý YçUïEõî EõTö c÷+ã[ý ̂ ×V aÇãVÌ[ý c÷çÌ[ý 4% åUãEõ 5% [ýÊ×ˆù EõÌ[ýç c÷Ì̂ *

a) Rs. 180 b) Rs. 160 c) Rs. 140 d) Rs. 120

65. Which of the following statements is correct ?
Tö_» åEõçXäOôç =×Nþ aTöî ?
XÝä»JôÌ[ý åEõçX =×Nþ×Oô aTöî ?

a) Every rational number is a fraction b) Every rational number is an integer
YÒ×TöäOôç Y×»ã]Ì̂  aeFîç+ \öGÂçe` YÒ×TöäOôç Y×»ã]Ì̂  aeFîç+ %F‰ø aeFîç
YÒ×Tö×Oô Y×Ì[ýã]Ì̂  aeFîç+ \öGÂçe` YÒ×Tö×Oô Y×Ì[ýã]Ì̂  aeFîç+ %F³Qö aeFîç

c) '0' is not a rational number d) Every fraction is a rational number
'0' æOôç Y×»ã]Ì̂  aeFîç Xc÷Ì̂ YÒ×TöäOôç \öGÂçe`+ Y×»ã]Ì̂  aeFîç
'0' Y×Ì[ýã]Ì̂  aeFîç XÌ̂ YÒ×Tö×Oô \öGÂçe`+ Y×Ì[ýã]Ì^ aeFîç

66. -143
21

 = ..............

a) (-6)+( 17
21

) b) 6+ (-17
21

)              c)   (-6) + (-17
21

)              d)   None of these (AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂ )
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67 If two sides of an issosceles traingle are 3cm and 8cm, then  the length of the third side is ............
AOôç a]×¥[ýç§ ×Åy\ÉöL» VÇOôç [ýç§» éVHïî yÔã] 3 æ$K÷.×]. %ç»Ó 8 æ$K÷.×]. c÷ã_ TÊöTöÝÌ̂  [ýç§» éVHïî c÷[ý ................
AEõ×Oô a]×¥[ýç§ ×Åy\ÇöãLÌ[ý VÇ+×Oô [ýç§Ì[ý éVHïî yÔã] 3 åa. ×]. A[ýe 8 åa.×]. c÷+ã_ TÊöTöÝÌ̂  [ýç§Ì[ý éVHïî c÷+ã[ý ................

a) 3cm (æ$K÷.×].) b) 8cm (æ$K÷.×].) c) 3cm (æ$K÷.×].) or [ýç 8cm (æ$K÷.×].)     d) None of these
3 æa.×]. 8 æa.×]. 3 æa.×]. [ýç 8 æ$a.×]. AOôçC Xc÷Ì^/AEõ×OôC XÌ^

68. Find the area of the shaded region of the following figure.
Tö_Tö ×VÌ̂ ç ×$JôyTö $K÷çã» %ç[ýÊwø %e`» Eõç×_ =×_C¾ç
XÝä»JôÌ[ý ×»Jôy×OôãTö »K÷çÌ̂ çÌ̂  %ç[ýÊTö %eã`Ì[ý Eõç×_

CRD

S

A
P B

Q

ABCD is a rectangle having length 30 cm and breadth 25cm. P,Q,R,S are midpoints of AB, BC, CD and AD
respectively.
ABCD AOôç %çÌ̂ Töãlùy ^ç» VÝH 30 æ$K÷.×]. %ç»Ó YÒØšö 25 æ$K÷.×].* P,Q,R,S yÔã] AB, CD %ç»Ó AD » ]Wýî ×[ý³VÇ*
ABCD AEõ×Oô %çÌ̂ Töãlùy ̂ çc÷çÌ[ý éVHïî 30 åa.×]. A[ýe YÒØšö 25 åa.×].* P,Q,R,S yÔã] AB, CD A[ýe AD AÌ[ý ]Wýî×[ý³VÇ*

a) 375m2 (×]2)            b)   375cm2 (æ$K÷.×]2)/(æa.×]2) c)   475m2 (×]2)       d)   None ofe these AOôçC Xc÷Ì^/AEõ×OôC XÌ^

69. The  area of the largest traingle that can be inscribed in a semicircle whose radius is r cm is ...........
r æ$K÷.×]. [ýîçaçWýï» %Wýï[ýÊwøTö %eEõS Eõ×»[ýôYç»ç [ýÊc÷wø] %Ü™öf×Åy\ÉöL» Eõç×_ ..............
r æa÷.×]. [ýîçaçãWýïÌ[ý %Wýï[ýÊãwø %eEõS Eõ×Ì[ýãTöôYçÌ[ýç [ýÊc÷wø] %Ü™öf×Åy\ÉöãLÌ[ý Eõç×_ ..............

a) 2r cm2 (æ$K÷.×]2)/(æ$a.×]2) b) r2 cm (æ$K÷.×].2)/(æ$a.×]2) c) 2r2 cm2 (æ$K÷.×].2)/(æ$a.×]2) d) r
2  cm2 (æ$K÷.×].2)/(æ$a.×]2)

70. Add (å^çG Eõ»ç/ »å^çG EõÌ[ý)
A  a
    2

2

+A  b
    3

3

-A  c
    4

3

, 2a
3

2
+3b

4

3

-4c
5

3

,a2+b3+c3

a) 13
6

a+ 25
12

b3 - 1
20

c3 b) 13
6

a2 - 1
20

b3 + 25
12

c3

c) 13
6

a2 - 25
12

b3 - 1
20

c3 d) None (AOôçC Xc÷Ì^)/ AEõ×OôC XÌ̂

71. If  3x = 500 then the valueof 3x-2 is ...........
^×V 3x = 500 c÷Ì̂ , åTöãÜ™ö 3x-2 » ]çX c÷[ý ................
^×V 3x = 500 c÷Ì̂ , Töã[ý 3x-2 AÌ[ý ]çX c÷+ã[ý .................

a) 100
9

b) 1000
9

c) 500
9

d) 500
3

72. If (^×V) 1+ 27
169

= 1+X   x
    13

, then (åTöãÜ™ö/ Töã[ý) x = ....................

a) 1 b) 14 c) Can not be determined d) None of these
×XSïÌ̂  Eõ×»[ý åXç¾ç×» AOôçC Xc÷Ì^
×XSïÌ̂  Eõ×Ì[ýãTö Yç×Ì[ýXç AEõ×OôC XÌ^
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73. ( xa

bx
)

c
 X ( xb

cx
)

a
 X ( xc

ax
)

b
 = ...................

a) 2 b) 0 c) 1 d) None (AOôçC Xc÷Ì^/ AEõ×OôC XÌ^)

74. If the area of a circle is A, radius of the circle is r and circumference of it is C, then ...............
^×V AOôç [ýÊwø» Eõç×_ A, [ýîçaçWýï r %ç»Ó Y×»×Wý C c÷Ì̂ , åTöãÜ™ö ....................
^×V [ýÊãwøÌ[ý Eõç×_ A, [ýîçaçãWýï r  A[ýe Y×Ì[ý×Wý C c÷Ì̂ , Töã[ý ......................

a) rC = 2 A b) C
A

 = r
2 c) AC = r

4

2
d)  A

r
= C

75. The cost price of 25 articles is equal to the SP of  20 articles. Find gain% ...........
25 ×[ýWý aç]GÐÝ» ×EõXçVç] 20 ×[ýWý aç]GÐÝ» ×[ýyÔÝ ]É_î» a]çX c÷ã_ `TöEõ»ç _ç\ö c÷[ý  .................
25 ×Oô aç]GÐÝÌ[ý yÔÌ̂ ]É_î 20 ×Oô aç]GÐÝÌ[ý ×[ýyÔÌ̂  ]Éã_îÌ[ý a]çX c÷+ã_, _ç\ö EõTö c÷+ã[ý ?

a) 20% b) 25% c) 30% d) None AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂

General Science / açWýç»S ×[ýpûçX / açWýçÌ[ýS ×[ýpûçX
76. Kinetic energy of a gas molecule depends on ..............

ãG$K÷» %XÇ» G×Tö ̀ ×Nþ ............. » CY»Tö ×X\öÛ» Eõã»*
GîçãaÌ[ý %XÇÌ[ý G×Tö ̀ ×Nþ ................. =YÌ[ý ×X\öÛÌ[ý EõãÌ[ý*

a) Pressure b) Volume c) temperature d) All the above
$JôçY %çÌ^TöX =bÕTöç %çOôç+ãEõ+Oôç
»JôçãYÌ[ý %çÌ̂ TöãXÌ[ý =bÕTöçÌ[ý a[ýEõÌ^×Oô

77. The area of the shaded portion in the graph shown below represents ..............
Tö_Tö ×VÌ̂ ç å_F» $Kg÷çã» %ç[ýÊTö %e`» Eõç×_ãÌ̂  ................ Eõ [ýÇLçÌ̂ *
×Xä¶oö åVCÌ̂ ç å_ãFÌ[ý »K÷çÌ̂ çÌ̂  %ç[ýÊwø %eã`Ì[ý Eõç×_ .................. å[ýçMõçÌ̂ *

Time

a) distance b) speed c) time d) none of these
VÉ»±¼ö VÐÓ×Tö a]Ì^ AOôçC Xc÷Ì^
VÉÌ[ý±¼ö å[ýG a]Ì^ AEõ×OôC XÌ^

78. 1 cal (åEõ_×» / åEõ_×Ì[ý ) = ...........
a) 10 joules b) 4.18 joules c) 4.18 dynes d) none of these

LÇ_ LÇ_ Qöç+X AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂

(a]Ì̂ )

Sp
ee

d 
(V

ÐÓ×T
ö)
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79. Radius of curvature of plain mirror is ..........
a]Tö_ VçãYçX» \öçL [ýîçaçWýï .................
a]Tö_ VYïãSÌ[ý \göçL [ýîçaçWýï .....................

a) positive b) negative c) infinity d) none of these
WýXç±ÁEõ @Sç±ÁEõ %aÝ] AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂

80. Which of the following is a reflector of light  ?
Tö_» åEõçXäOôç åYçc÷»» YÒ×TöZõ_Eõ ?
XÝä»JôÌ[ý åEõçX×Oô %çã_çÌ[ý YÒ×TöZõ_Eõ ?

a) Sun b) Moon c) Star d) Filament
aÉ ï̂î $Jô³VÐ Tö»ç / TöçÌ[ýç ×Zõ_çã]³Oô

81. Which of the following is the symbol for  a bulb ?
Tö_» åEõçXäOôç é[ýVÇî×TöEõ [ýç_Ÿ» YÒ×TöEõ ×c÷$JôçãY [ýî¾c÷ç» Eõ»ç c÷Ì̂  ?
XÝä»JôÌ[ý åEõçX×Oô é[ýVÇî×TöEõ [ýçã_ŸÌ[ý YÒTöÝEõ ×c÷açã[ý [ýî[ýc÷çÌ[ý EõÌ[ýç c÷Ì̂  ?

a) b) c) d)

82. An electric heater is used by us to convert electrical energy to .............
%ç×] [ýî¾c÷ç» Eõ»ç é[ýVÇî×TöEõ ×c÷Oôç» æOôçã¾ é[ýVÇî×TöEõ `×NþEõ ................. é_ »ÖYçÜ™ö» Eõã»*
%ç]çãVÌ[ý [ýî[ýc÷çÌ[ý EõÌ[ýç é[ýVÇî×TöEõ ×c÷OôçÌ[ý é[ýVÇî×TöEõ ̀ ×NþãEõ ............ Ì[ýÖYçÜ™öÌ[ý EõãÌ[ý*

a) heat energy b) light energy c) both 'a' & 'b' d) chemical energy
TöçY ̀ ×Nþ åYçc÷» ̀ ×Nþ 'a' %ç»Ó 'b'  =\öÌ̂ »çaçÌ̂ ×XEõ ̀ ×Nþ
TöçY ̀ ×Nþ %çã_çEõ ̀ ×Nþ 'a' A[ýe 'b' =\öÌ̂ Ì[ýçaçÌ̂ ×XEõ ̀ ×Nþ

83. Which of the following venn diagrams shows the relationship between changes correctly ?
Y×»[ýwïøX a]Çc÷» ]çL» a¶‘öµù Tö_» åEõçXäOôç å\öX ×$Jôy+ a×PöEõ \öçã[ý YÒV`ïX Eõã» ?
Y×Ì[ý[ýTöÛX a]Éãc÷Ì[ý ]ãWýîÌ[ý a¶‘öµù XÝä»JôÌ[ý åEõçX å\öX ×»Jôy×Oô a×PöEõ\öçã[ý YÒV`ïX EõãÌ[ý ?

a)

Physical
Changes

(å\öì×TöEõ Y×»[ýTöÛX)
(å\öì×TöEõ Y×Ì[ý»[ýTöÛX)

Chemical
Changes

(»çaçÌ^×XEõ Y×»[ýTöÛX)
(Ì[ýçaçÌ^×XEõ Y×Ì[ý»[ýTöÛX) b)

Physical
Changes

(å\öì×TöEõ Y×»[ýTöÛX)
(å\öì×TöEõ Y×Ì[ý»[ýTöÛX)

Chemical
Changes

(»çaçÌ^×XEõ Y×»[ýTöÛX)
(Ì[ýçaçÌ^×XEõ Y×Ì[ý»[ýTöÛX)c)

Physical
Changes

(å\öì×TöEõ Y×»[ýTöÛX)
(å\öì×TöEõ Y×Ì[ý»[ýTöÛX)

Irreversible
Changes

(AEõ]ÉFÝ Y×»[ýTöÛX)
(AEõ]ÉFÝ Y×Ì[ý»[ýTöÛX)d)

Chemical
Changes

(  Y×»[ýTöÛX)
(  Y×Ì[ý»[ýTöÛX)
»çaçÌ̂ ×XEõ
Ì[ýçaçÌ̂ ×XEõ

Irreversible
Changes

(AEõ]ÉFÝ Y×»[ýTöÛX)
( Y×Ì[ý»[ýTöÛX)AEõ]ÉFÝ 

84. Sulphuric acid is formed when ........... reacts with water.
............... åÌ̂  YçXÝ» _GTö ×[ý×yÔÌ̂ ç Eõ×» $Jôç_×Zõ=×»Eõ A×$JôQö =dY~ Eõã»*
Lã_Ì[ý ×[ý×yÔÌ̂ ç ................ AÌ[ý açãU H×Oôã_ aç_×Zõ=×Ì[ýEõ A×aQö =dY~ c÷Ì̂ *

a) SO2 b) S c) SO3 d) O2
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85. Na2 CO3+2 HCl  ..................

a) NaCl + O2 + H2 b) NaCl + O2 c) NaCl + H2O d) 2 NaCl + CO2 + H2O

86. The monsoon winds that carry a lot of water to India come from the ............
................ å]ì$JÇô]Ý [ýTöçãc÷ \öç»Tö[ýbïê_ ̂ ãUœö YçXÝ Eõ×RÍôÌ̂ ç+ %çãX*
.............. å]ìaÇ]Ý [ýçÌ̂ Ç \öçÌ[ýTö[ýãbï ̂ ãUrô Y×Ì[ý]çãS L_ [ýc÷X Eõ×Ì[ýÌ̂ ç %çãX*

a) North east b) North west c) South east d) South west
=wø»-YÉ[ý =wø»-Y×¸Jô] V×lùS-YÉ[ý V×lùS-Y×¸Jô]
=wøÌ[ý-YÉ[ýï =wøÌ[ý-Y×¸Jô] V×lùS-YÉ[ý V×lùS-Y×¸Jô]

87. The density  of water is  greatest at .............
............... Tö YçXÝ» HX±¼ö %çOôç+TöêEõ å[ý×$K÷*
................... åTö Lã_Ì[ý HX±¼ö a[ý»Jôç+ãTö å[ý`Ý*

a) OoC b) 40C c) 1000C d) 370C

88. The chemical formula of ice is ...............
[ý»Zõ» »çaçÌ̂ ×XEõ aeãEõTö éc÷ä$K÷ ...................
[ýÌ[ýãZõÌ[ý Ì[ýçaçÌ̂ ×XEõ aeãEõTö c÷+_ ....................

a) H2 b) O2 c) H2O d) H2O2

89. Non metallic oxides react with water to form ...............
%WýçTÇö» %jç+ãQö YçXÝ» _GTö ×[ý×yÔÌ̂ ç Eõ×»ã_ ........... =dY~ c÷Ì̂ *
%WýçTÇöÌ[ý %jç+Qö Lã_Ì[ý aã† ×[ý×yÔÌ̂ ç Eõ×Ì[ýã_ ............. =dY~ c÷Ì̂ *

a) acids b) bases c) salt d) none of these
A×$JôQö lùç» _¾S AOôçC Xc÷Ì^
A×aQö lùçÌ[ý _[ýS AEõ×OôC XÌ^

90. Which of the following grow into a new fungi plant ?
Tö_» åEõçXäOôç» Y»ç XTÇöX å\göEÇõ»» =dY×wø c÷Ì̂  ?
XÝä»JôÌ[ý åEõçX×Oô c÷+ãTö XTÇöX ..................... =dY×wø c÷Ì̂ *

a) Seeds b) Spores c) Pollen d) none of these
[ýÝL å»SÇ Y»çG AOôçC Xc÷Ì^
[ýÝL åÌ[ýSÇ YÌ[ýçG AEõ×OôC XÌ^

91. Carnivorous plants .............
YTöeGã\öçLÝ .......................

a) kill insects b) perform anaerobic c) contain alimentary canal d) All the above
=×àöãV EõÝTö-YTöeG FçÌ̂ =×àöV» %[ýçTö ̀ ŸaX c÷Ì̂ =×àöV» FçVîX_Ý %çä$K÷ %çOôç+ãEõ+Oôç
=×àöãV EõÝOô-YTöeG FçÌ̂ =×àöãVÌ[ý %[ýçTö ̀ ŸaX c÷Ì̂ =×àöãVÌ[ý FçVîX_Ý %çä»K÷ a[ýãEõÌ̂ ×Oô
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92. Most of the digestion and absorption of food takes place in ..........
............... Tö å[ý×$K÷\öçG Yç$JôX %ç»Ó å`çbS aeG×PöTö c÷Ì̂ *
...................... å[ý×`Ì[ý\öçG Yç»JôX A[ýe å`çbS aeG×PöTö c÷Ì̂ *

a) Stomach b) Liver c) Small intestine d) Large  intestine
YçEõØšö_ÝTö ^EÊõd lÇùVÐçÜ—ö [ýÊc÷VçÜ—ö

93. Bile is secreted by ............
.................. åÌ̂  ×Ywø»a a»S Eõã»*
............... ×YwøÌ[ýa ×XfaÊTö EõãÌ[ý*

a) Stomach b) Small intestine c) Pancreas d) Liver
YçEõØšö_Ý lÇùVÐçÜ—ö %GÂç Ì̀̂ ^EÊõTö

94. Which of the following country leads the world in silk production ?
Tö_» åEõçXäOôç åV`Tö %çOôç+TöêEõ å[ý×$K÷ ×$Jô’õ =dY~ c÷Ì̂  ?
XÝä»JôÌ[ý åEõçX åVã` a[ý»Jôç+ãTö å[ý`Ý ×a’õ =dY~ c÷Ì̂  ?

a) India b) Srilanka c) Nepal d) China
\öç»Tö / \öçÌ[ýTö Ò̀Ý_eEõç åXYç_ JôÝX

95. Sheeps in ........... region have thicker fur than the sheeps living in ............. region.
................... %‡û_» å\öQÍöç» ......................... %‡û_» å\öQÍöçTöêEõ QöçPö åXç] UçãEõ*
................. %AÕã_Ì[ý å\öQÍöçÌ[ý ................... %‡ûã_Ì[ý å\öQÍöç c÷+ãTö å[ý`Ý å]çOôç å_ç] UçãEõ*

a) Warm, Cold b) Cold, Warm c) Hot, Warm d) Warm, hot
=bÕ, ̀ ÝTö `ÝTö, =bÕ G»] / GÌ[ý], =bÕ =bÕ, G»] / GÌ[ý]

96. Which of the following kill the organisms in the soil ?
Tö_» åEõçXäOôçã¾ ]ç×OôTö UEõç LÝ¾çSÇ W[ýea Eõ×»[ý Yçã» ?ö
XÝä»JôÌ[ý åEõçX×Oô ]ç×OôãTö UçEõç LÝ[ýçSÇ W[ýea Eõ×Ì[ýãTö YçãÌ[ý ?

a) Metallic substances b) Earthern Pots c) Polythene bags and plastics d) Glass ware
WýçTö[ý YVçUï ]ç×Oô» Yçy Y×_×UX å[ýG %ç»Ó YÀç×rôEõ Eõç$K÷» Yçy
WýçTö[ý YVçUï ]ç×OôÌ[ý Yçy Y×_×UX å[ýG A[ýe YÀç×rôEõ Egõçä»JôÌ[ý Yçy

97. Lactic acid accumulation leads to ...........
åVc÷Tö å_Eõ×OôEõ A×$JôQö» Y×»]çS %×WýEõ c÷ã_............................
`Ì[ýÝãÌ[ý å_Eõ×OôEõ A×aãQöÌ[ý Y×Ì[ý]çS %×WýEõ c÷+ã_ ...............

a) liver fatigue b) muscle fatigue c) kidney fatigue d) All the above
^EÊõTö VÇ[ýï_ c÷Ì̂ åY`Ý VÇ[ýï_ c÷Ì̂ [ýÊhõ VÇ[ýï_ c÷Ì̂ %çOôç+ãEõ+Oôç / a[ýEõÌ̂ ×Oô
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98. Which of the following animals breathe through their skin and lungs ?
Tö_» åEõçXäOôç YÒçSÝãÌ̂  $K÷ç_ %ç»Ó c÷çCgZõçCg» ac÷çÌ̂ Tö =`çc÷-×X`çc÷ _Ì̂  ?
XÝä»JôÌ[ý åEõçX YÒçSÝ ±¼öEõ A[ýe ZÇõaZÇõãaÌ[ý açc÷çã^î ̀ Ÿça YÒ̀ Ÿça ×XãÌ̂  UçãEõ ?

a) Fish b) Frog c) Snake d) Earth worm
]ç$K÷ å\öEÇõ×_ / [ýîçIø açY åEõ$JÇô / åEgõä»Jôç

99. Plants store waste materials in .............
=×àöãV ............. Tö [ýLÛî YVçUï L]ç Eõ×» »çãF*
=×àöV .................. [ýLÛî YVçUï L]ç EõãÌ[ý Ì[ýçãF*

a) Old leaves b) Vacuoles c) both 'a' & 'b' d) none of the above
YÇ»×S YçTö »aWýçXÝ a %ç»Ó b =\öãÌ̂ AOôçC Xc÷Ì^
YÇÌ[ýSç YçTöçÌ̂ Ì[ýaWýçXÝ a A[ýe b =\öãÌ̂ AEõ×OôC XÌ^

100.Match the following :
Tö_Tö ×VÌ̂ çã[ýç» ×]ã_çC¾ç f
XÝä»JôÌ[ýmã_çãEõ açLçC f

1. Kidneys ([ýÊhõ)ý i) Air ([ýçÌ̂ Ç)
2. Heart (c÷Öd×Y‰ø) ii) Food (FçVî)
3. Lungs (c÷çCgZõçCg / ZÇõaZÇõa ) iii) Blood (åTöL / Ì[ýNþ )
4. Stomach (YçEõØšö_Ý) iv) Wastes ([ýLÛî YVçUï)

a) 1-i, 2-iii, 3-iv, 4-ii b) 1-iv, 2-iii, 3-i, 4-ii c) 1-iii, 2-iv, 3-ii, 4-i d) 1-iv, 2-iii, 3-ii, 4-i

XXX THE END XXX
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